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ZHfo_ wOH + UQO2+2 = (Hfo_wQO)2UQ2Z + 2H+

log_k -6.28

ZHfo_sOH + UQO2+2 = (Hfo_sO)2UQ2 + 2H+
log_k -2.57

H2CO3 + 2Hfo_wOH + UO2+2 = (Hfo_wO)2UO02C03-2 + 4H+
log_k -16.43

H2CO3 + 2Hfo_sOH + UO2+2 = (Hfo_sO)2U02C03-2 + 4H+
log_k -12.34

H+ + Hfo_wOH = Hfo_wOH2+
log_k 6.51

H+ + Hfo_sOH = Hfo_sOH2+
log_k 6.51

Hfo_ wOH = Hfo_wO- + H+
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log_k -9.13

Hfo_sOH = Hfo_sO- + H+
log_k -9.13

H2CO3 + Hfo_wOH = Hfo_wCO3H + H20
log_k 29

H2CO3 + Hfo_sOH = Hfo_sCO3H + H20
log_k 2.9

H2CO3 + Hfo_wOH = Hfo_w(CO3- + H+ + H20
log_k -5.09

H2CO3 + Hfo_sOH = Hfo_sCO3- + H+ + H20
log_k -5.09
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